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Text 1

Malcolm Davis lives in a small village in the South of England. Twenty years ago he set up a haulage
business when he bought a lorry. At the start he operated his business as a sole trader. Malcolm
used the lorry to transport goods around the South of England. Businesses would pay him to come
to their premises, load up with stocks of raw materials or finished goods and transport these to their
customers.

Malcolm’s business was very successful and expanded over the years. He is now Managing Director
of MD Transport Ltd. The business currently owns 60 lorries and transports goods throughout the
United Kingdom. MD Transport Ltd employs 80 lorry drivers. Its head office is based in the village
where Malcolm still lives. The head office has employees working in all the main functional areas.
There is also a workshop/maintenance depot on this site.

1 Refer to Text 1.

(a) State the form of business ownership represented by the abbreviation ‘Ltd’.

.............................................................................................................................................. [1]
(b) Identify the type of business activity in which MD Transport Ltd is most likely to operate.
.............................................................................................................................................. [1]
(c) (i) State one likely aim for Malcolm when the business was first set up 20 years ago.
...................................................................................................................................... [1]
(ii) State one different aim which MD Transport Ltd could now have.
...................................................................................................................................... [1]
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(d) Below is MD Transport Ltd’s mission statement.

M D Transport Ltd
Mission Statement

To provide professional, fast and reliable haulage services

Explain why it is important for MD Transport Ltd to have a mission statement.

.............................................................................................................................................. [4]
(e) There are a number of different functional areas at MD Transport Ltd. These are listed below.
Finance
Human Resources
Marketing
Operations

Administration/ICT

Each functional area has a different responsibility. Complete the table below by identifying
which functional area is most likely to be responsible for each task.

Functional area Task

Keeping records of all accounts

In charge of reception area

Ensuring all employees are trained

Deciding on methods of promotion

[4]
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(f)* Evaluate the possible consequences to a business you have studied if the functional areas do
not operate efficiently. Which of these consequences would have the greatest impact on the
business? Give reasons for your answer. [10]
NaME Of DUSINESS ..o

ACHIVITY OF DUSINESS ... e e e s e e e e e e e s eee s
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Text 2

MD Transport Ltd operates in an enterprising way.

* It has bought more lorries which are different sizes, so that if a customer only wants a small
load delivering, money and resources will not be wasted. A big lorry would use more fuel
than a small lorry.

e MD Transport Ltd has also bought refrigerated lorries so that it can attract new customers
who want to transport frozen or cold food.

e Customers can now make bookings over the Internet.

2 Refer to Text 2.

(@) (i) State and explain two benefits to MD Transport Ltd of taking bookings over the Internet.

L TP TPRRN

2SR

[4]

(ii) State and explain two drawbacks to MD Transport Ltd of taking bookings over the
Internet.

1 RS SRPRR

2 ettt e teeeeeeeeeeeeeaeeeeaseeeeaseeeeaseeeeaseeeeasteeanteeeiaseeeateeeaeeeaanteeaanteeaaneeeaaneeeanneeas

[4]
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(b)* Recommend which of the enterprising ways outlined in Text 2 would offer the most benefits
to MD Transport Ltd:

e  Buying lorries of different sizes
*  Buying refrigerated lorries
* Allowing customers to make bookings over the Internet.

Give reasons for your recommendation, explaining why you rejected the other two ways. [10]
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(c) As well as operating in an enterprising way, businesses can change their existing business
practices in order to be more successful.

(i) Describe two ways in which a business you have studied might change its existing
business practices in order to become more successful.

NAME OF DUSINESS ..ottt et e et et e e e e e e e e e e e e e e e e e e e e e e eeenns
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(ii) Explain two possible consequences to the business you have named in part 2(c)(i) of
not having made these changes.
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Text 3

Buying extra lorries has meant that the depot in Malcolm’s village has become a lot busier with more
lorries moving around. MD Transport Ltd needs to buy more land to make its lorry parking area
bigger and to build extra office space. Malcolm is keen to ensure that any expansion is undertaken in
ways which are sustainable to the environment.

3 Refer to Text 3.

(a) Explain the meaning of the term ‘sustainable’.

.............................................................................................................................................. [2]
(b) Identify two ways in which MD Transport Ltd can be sustainable when expanding the

business.

3 SRS

2 PP PPRPP

(c) ldentify three different stakeholder groups which would have an interest in a business such
as MD Transport Ltd.
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(d)* Evaluate the consequences to MD Transport Ltd of not listening to its stakeholder groups
when it is planning to expand the business as outlined in Text 3. Which of these consequences
would have the biggest impact on MD Transport Ltd? Give reasons for your answer. [10]
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Text 4

As Managing Director, Malcolm is always keen for employees to come up with new ideas for
MD Transport Ltd. At a recent staff meeting the following ideas were suggested. These were that
MD Transport Ltd should:

Idea 1:
Work with a charity to deliver goods for free to very poor countries.

Idea 2:
Start doing deliveries to Europe.

Idea 3:
Open another depot in the North of England.

Before using any of these ideas, MD Transport Ltd would need to undertake detailed research and
consider various economic factors.

4 Refer to Text 4.

(@) Other than suggestion schemes and offering ideas, identify two ways in which employees
can assist a business such as MD Transport Ltd to operate in an enterprising way.

1 PP TP PP
2 PSP PP PPPRPP PP
[2]
(b) Explain how working with a charity may benefit MD Transport Ltd.
.............................................................................................................................................. [4]
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(c) State one likely aim of a charity.

(d) Explain two different ways in which an increase in interest rates could impact on
MD Transport Ltd’s decision to open another depot in the North of England.

(e) Explain two different ways in which changes in the exchange rate between the pound (£) and
the Euro (€) could impact on MD Transport Ltd starting to deliver to Europe.
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